KIIT WORLD SCHOOL
Mathematics assignment, class-VI

Chapter- 1 , Knowing Our Numbers
Date of giving:                                   Date of submission:                               Date of return:

A) Multiple Choice Questions:

Q1. The place value of 6 in the numeral 48632950 is

a) 6               b)    632950       c)    600000     d)   486

Q2. The difference between the place value and the face value of 5 in the numeral 78653421 is  a) 53416    b)    40000         c)    49995        d)  none of these
Q3. How many 4 digit numbers are there?

a) 8999         b)   9000            c)    8000          d)   none of these

Q4. What comes just before 1000000?

a) 99999        b)   999999       c)    9999999   d)   none of these

Q5. Which of these is not meaningful?

a) XIV              b)   XVV             c)   XIII               d)  XXII

B) Short  Answer Type Questions:
Q6. Write the number name and the expanded form of 9,10,10,510 according to Indian number system.

Q7. Write the number name of 90703006 using international number system.
Q8. Write the numbers 1020304, 893245, 9810134, 1021403, 893425, 1020216 in acending order.

Q9. Estimate the sum ( 170 + 395) to the nearest hundred.

Q10. Estimate the difference ( 47005 – 39488 ) to the nearest thousand.

Q11. Estimate the product 271 x 339 by rounding off each number to the nearest hundred.

Q12. Estimate the product 578 x 369 by rounding off the first number downwards and the second number upwards.

Q13. Estimate the quotient for 868 [image: image2.png]


 39.
Q14. Write the roman numeral of 769.

Q15. Write the Hindu-Arabic numeral for DCCLXVI.

C) Long Answer Questions:
Q16. The sale receipt of a company during a year was Rs. 20956480. Next year, it increased by Rs. 6709570. What was the total sale  receipt of the company during these two years?

Q17. By how much is 13246510 larger than 4658642?
Q18. The mass of a brick is 2Kg 750g. What is the total mass of 14 bricks?

